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Question: Can w:

Answer: Indeed yes. T
Establishing if flocculatio

That is, is (
analysis is tl




The

. LISST measures the optical ¢
coefficient, ¢, = —log(z)/l ;*
from the laser by scatteri

. The total light falling on ring
over angles 0.05 to 10°; say k

. For particles in tl rement
detectors cap
lc~1

. Thus if s'ig_nific’"
peicw 28 oY
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b;=5.2x 103 sum(csé’ _

b; = 2.6 x 103 sum(cscat)/P

Matlab function ge




So

It is confirmed that the eV
volume in below-size p

1. It would indicate that the
them because they were p
disaggregatio Jre sizing
In this case. ed tc
mass den:
concentrat

. However, tn
valid in-sitt
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